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PART - A _
GENERAL INTELLIGENCE & REASONING

Directions: In questions no. 1 and 2, select the related

letter/ word from the given alternatives.
1. A=E:R-V::B-F:F-]
(A) FUGK B CSCG
&y CTDH M BSCG
2.  Horse:Neigh::Bells: ?
(A)  Rustle (B} Roar
i) Beat Iy Chime

3. Whichone set of letters when sequentially placed at

the gaps in the given letter series shall complete it ?
akzbba £bba Ehb
(A) abb (B bbb (O bba ([ aab

Directions: Inquestions no. 4 to 12, a series is given, with

13.  Certain numbers have symbols as given beloi,

1 2 3 4 5 & 7 8B 9 0O
G E=C0E 8 3ok 3 ok
What is the number indicated by these symbols ?
G d o i

(A) 45096
0 47095

B 45906
(. 56907

Drirections: In question nos. 14to 17, find the odd word -
niumber from the givenalternatives

14 (A)  Red Yellow 1B
{Q  Yellow Green ¥

15. 271257716, 343

Red Crange
Yellow Crange

ane term missing. Choose the correct alternative from the W e B/ M © ¥ O 1B
given ones that will complete the series. 16.  (AY- DutehMark ) Yen
4. EFA,GHCIJE, _?
™ KL.C': r— ® HIF )| Eranc D) Pound (Sterling)
0 EDA Dy JEG 175 (M) grave (B) agrecable
5. NPMKRTIG_? (G fastidious W firm
A OB BEC (O VX (D UW- | 18 What is the least number {o be sublracted from 2486
; tamake it a perfect square ?
6. 61, 52, 63, M, 46, _ 7 i -
(A) 19 B 18 (A) 90 (® 9 (O B0 (D) 85
Q 17 @ None 19.  Shiela and Belah start from their office and walk in
. , opposite direction each travelling 10 kms. Shiela
£ AZ,CX,EV,GT, _L_ KF,_1_. then turns left and walks 10 kms. Belah tums right
(A} Rland MN (B)  RlandNM and walks 10 km. How far are they now from each
(@ IRand MN 0} TR ind NM cther?
- 13,10, T, 100, 1003, 1000, 160035, (A} Skm (B Hkm
{A) 1130 (B 103 (O 130 Dy 1030 (O 20km @ 10km
9, TONKHEBYVSPRR? 20. Roshan is taller than Hardik who is shorter than
(&) NKI B MG Susheel, Miza is taller tham Harry but shorter than
O MJH D NKG Hardik. Sushesl is shorter than Roshan, Whe is the
10. 513,29,61,125 .2 :1';*"*‘ :l i 5 B
A) 196 45 (O 14 253 i .
e i ® © S (7} Roshan I Susheel
1. Y4 VYZLSHLPYZ _ ¢ . o I _ " e
: rections: In questions no, 21 to 23, from the given
i _ i:; £ wzz alternatives select the word which cannot be formed using
Q ) the letters of the given word.
12 PICRSFTBLVIZL T . 21. INTELLIGENCE
A X170 | Y170 Al INCITE (B CAMNCEL
(O X160 O X17M {© NEGLECT (0) GENTLE
il - i:}' E -

SPACE FOR ROUGH WORK
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4 - &
A Flgwr Ud aehviia
foden : v wem 1 2, fan e famedl 4 A vt | 13 e dons F A fm e
O sl 113455?3';0'
1. A-E:R-V::B-F:F-] mngquﬁ.
{A} FUGK {B) CSCG LEsR Gical mmﬁﬂmmﬂiﬁ?
(© CTDH @ BSCG [ ] v d
. (4~ 45096 B 45906
2. HE Al A 7 () 47095 O 5¢907
() S o T Frder : 7w dem 14 17 7% 4, fon e et @ fam
@ e © v i
3. AWiwmEE-moEwE E e g | W (A) EE-de B) -
T LR SfE@e ® T FM Y Q e Sy i
a_bla_bba _ bb 15, 27,125,716, 343
(A) abb (B) bbb (O bba [ aab (A) 58 343 (Q 27 O 125
il : A vE 4R 2T R apm T e uE | ;
L) | = B W
o ¥ o me et ¥ @ o w9 ey 9fm S sgew : .
ﬂ‘{ﬂﬂﬂ' (€ D) e
EFA, GHC, IJE, _?__ 17. (K, iR (B) T
(A) KLG (B HIF N
o s © T © T
5. NPMKRTIG_? . 18, | 2486 F T o AR F o vl @ e T W)
() FD (B EC (O VX (D) UW HE F S T 2
6 61,5263,94,46,_2 . il o L B
(A 19 B 18 N 19, it ofR Sen I T @ S I w5 E e S
o 17 D} mﬁﬂﬂﬁ-‘ forrita o 10 - 10 Feft =t #1 9w ww T
T. AZC{EV.GT,_? ,KP._1 win g 10 et we &) den i g 10 feet
@ RiRMN @ R Wl §1 @ A v gEt # fEe g w
€ IRIFMN O} ~JRmuM &) 5w B &TEd
B 13,10, __2 100, 1003, 100010003, (20 fedt ) 10fEd
A TG 103610 O 1080 f o o, i @ ¢, o, i R v ¥ o,
9, TQNHE[IEEY‘\-’SF?TE;E-- ¥ 4 il ¥ fig T @ 9 B i, dvE A
Al NE MG : '
Eq MIH mJ] N%{c Ble ¥ 1w T o w7
10.  5,13,29,61,425) 7. W R ®) &
(A) 196 (B 245 (O 145 (D) 253 o T ) TEE
1L Yz,wfz.gm-m, r . fordw . v T 21 8 1 H, refefios el 2 e s
A) /Ry B MYZ
gy D TYZ ﬁf‘rﬁqwmtamﬁﬂmmﬂﬂmm
12, FRC,RSF,T8LVI2L,_ 2 21.  INTELLIGENCE
(A}, X170 B Y170 (A)  INCITE {B) CANCEL
) X160 o X17M (O NEGLECT {00 GENTLE
% wd & e
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. DEOOMPOSITION

(A} POSITION (B} DOCTOR

{0) COMPOSE {0} ECONOMIST
23, DISAPPOINTMENT

(A} TENEMENT (B) POSITION

i3 POINTER I  OINTMENT
2. U MOBILE is written as ZAMSUM, how TUMOR
can be written in that code ?
Ay GGXYA By IHZIBE
(G BRAIN M HGYAD

25.  In the following question, the number of letters
skipped in between adjacent Letbers in the series is
successive even numbers, Which of the following
series observes this rule 7

(&) BEJQZ {B) BDGKQ
{0 FINUZ ™ ADGIM

26,  If * standsfor addition, < for substraction, + stands
for division, > for multiplication, — stands for
equation, + for greater than, and = stands for [ess
than, state which of the following is true 7
(A) 3x4>2-9+3<3
(B} 5S=x3<3iz=F+4dx1l
(O 3x2<d+16>2+4
I 52B+4=10=4x8

7. 1 5h4ha=33 and 22 + 99 =33, whal is 44 88 7 :
Ay 22 B 40 (O 23 M _fﬁﬁ

28,  Inaquestion paper, there are 12 questions m al.oly
of which only six are to be answered. Six questions
have an alternative each. Each queﬁi.i'un’ has four
parts,

How mamy queahunﬁ including par'h. a|.‘¢ there in
the question paper ?

Ay 72 M 9% (O 24 ([ 4B
Directions: In questions no. 249 40 34, select the missing

number from the given responsgs.
N 3 4 f

5 7 3/

1 2 y'

35 69 4.2

(A) 84 B 42 © 82 O %
0. 16 (2964

257286 Bl

T 7

17 ® 14 © 21 @ 2

i 4 3 2
w2 w7 3 5

Ay &4 B 81 (@@ 71 (D 49
32, 19 18 34 32 44 4] |
2 4 ? :

Ay 9 B 4 o 3 {0 6
33, 511,24.51,106, 7 .

(A) 217 ® 21 O Mo 12
3. 3917,3526, 21, 2852 |

{A) 3389 Ao (B 2682

0 3082 S AD) 3174

35. Aand B bnﬂj arg !‘-r.‘all'.mg away from point X',
A walked 5m and B walked 4 m from it, then A
walked 4 nt [Jp_rlﬂ'i of "X" and B walked 5 m south of
A What isthe distance between thern now ?

A Bl 16m
1
1} T140m M 95m

%6, Pipe A can fill a tank completely in 5 hours.
‘However, on account of a leak at the tank, it takes
Jnore howrs to fill the tank. How long will the leak
take to empty the full tank when pipe A is
closed /shut ?

{4} 14 hours 40 minutes
{B) 12 hours 20 minutes
ISy 13 hours 20 minutes
([ 7.5 hours

Directions: In questions no. 37 and 38, one/two
statements are given followed by two,/ three conclusions |,
L and [ll. You have to consider the statements to be true
even if they seem to be at variance from commonly known
facts, You have 1o decide which of the given conclusions,
if any, follow from the given statements,

37.  Statement: Sun is the source of light.
Conclusions: (T} Moon is not the source of light.
{IT} Light has only one source.
{A)  Bothconclusions (T) and (T1) follow
(B)  Neither conclusian (I) nor (1T) follows
{0 Only conclusion (1) follows
™ Omly conclusion ([1) follows

SPACE FOR ROUGH WORK
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DECOMPOSITION

{a)  POSITION (B DOCTOR

{0} COMPOSE D)  ECONOMIST
DISAPPOINTMENT

(4) TENEMENT B  POSITION

(O POINTER @ OINTMENT

Tfg MOBILE Ft ZAMSUM % =1 & fmn =ma & @t
o1 wig § TUMOR &) %4 Tommn =mom 7

(A) GGXYA B IHZBE

(O BRAIN 0} HGYAD

Freafefas v 4, ofuen § fzey sl & g A0
FIE T, A R FE WY WA w SR S
%1 Fr=fefae § 4 5o o & w8 fraw = oo
o T

() BEJQZ B BDGKQ

{0 FINUZ ) ADGIM

o x TEFACE <« mF M E, + v F o
tommEfmd - wfismEfuE - s
o #ft. = wrqam & fau & & T Fafates § 9
FA WO E?

(A) 3Ixd>2-9+3<3

B Sx3<3+8+4=1

) 3x2=4+16>2+4
M 5>B+4=10<4=8

7% 55 + 66 =33 22+ 99=33, M 44 + BEFT R L

@ 33 B w0 © 33 @ 36
T e T 12 W E, T A e v e
T E # | T W U W U U ey TR
T # | W U AR e E

T TH H AT TR % Wi ) e e e v
#2

&) 72 B 9%, )24 () 48

.

3

33,

35,

4 3 2

3 2 100 7 ' 5

(A) 64 (B 81 (© 71 (D) 49
19 18 34 32 44 41 '

2 4 ?

W9 ® 4 © 3™ s
5,11,24,51,106, __7 . ;
221 {0

(4) 217 (B 15 o 122
3917, 3526, 7, 2R57 '

(A) 389 JEy - 2682

@ 3082 : | 3174

AdrpEEl R R Tm R A wm
¥R B4 T WE AR A X F 3w fewm A g w6t
Ta A E AF T fem F 5T 9En wm = E

= 511 e @i ?
(A9 Hi.- ® 16
A 40 H M) 95

WA IR s Imnwmat) wtsd
fram ¥ & woo = v F 3 52 afiw e €
ToATR REFEF T N is = fm &

o it B e o =i
(A) 1492 40 fim

@ 1292 2 fie
139 20 e

Oy 7549

Tordor : W wEm 37 A 38 O, W) WAl & amil €At
Tored 1, 1= 1 o e &1 g mme T A F s=R EA W
off Il it THATE, T W w1 R4 AW AE w1 fF fa
™ fr=rel § @ FF-m, afz w5 0, fu ™ == A
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38, Statement: (1) All cities are towns.
(M) Some cities ane villages,
Conclusions: (I} Allvillages are towns.
(M) Mo village is a town.
{111} Some villages are towns.
(% Onlyconclusion () follows
(B Omnly conclusion (1) follows
() Only conclusion (1) follows
) Moneof these
Directions:
will complete the gquestdon figure ?
39, Question figore :

i
|!:-:
L

Answer figures :

In questions no. 39 o 41, which answer figure

—

ViniPAEA|y

a0, Question figure,

—
(A) [“} ) ]
41. Question figure : g

1|-:I|-!'3

alCT#[

i

=0

:ns_wcr_ﬂ,gw:ﬁ
P |

}%&:—li:'}!h
[y B (€ (D)

N |
& |

42.

Which one of the following box can be created by
folding the given key design ¥

Qg
Answer figures

. lenQ |
BES0

(A) .~ (©) (L)

Choose from (hefollowing diagrams (A), (B), (C) and
{[2) the ana that iThustzates the relationships among
three given clxsses [

North Amenca, United States of America, Mew Yok

Answet fighres:
| M

CIEEL]

(<) (D)

leeevlemn[mesamzmbemglm Al the faces
of the cube are numbered from 1 to 6. Select one
figure which will result when the cube s unfolded.

Question figures : .
¢ ? ’
L aﬁ S

% | 67

Answer figures

I =1 | =1 =1 =1 |
5 i 4 4
3l6] || B 116 5(8]
4 L. {3 5 1

||,z1 |12]1 l3]2 [3]2
(A) © D)

Which figure represents the relationship ammu;

Sun, Moon, Molecile ?
QD = ©9

o OO0 » CY

SPACE FOR ROUGH WORK
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W/, HEF: () WE e AN F)

12, A @ gEn fea F Age ¥ W ate T

I @ e WA T # w7
Fresd . (1 Wit i T R E :
i wa T
(Il1) F3 7 T EE ¥
(A} = e (o Eem L .

By Em Fred () T | - e
10 ¥ Frewd @@ T Tl -
ﬁim[m mﬁ?fvﬂf‘r T A & l- { ~v

W A 39 H 41, E A —. | =
e Fi gu w2 E}:ﬁﬂ“ \H! !|
30, WY WM I _ s
= (A) B~ AC) ©)
43, Frefafas st a) 8, () 3 (o) F 2 T o
JAN_ S ) ey A I e, dw T
L i st e o i e )z 87
e o= st
(T BT alanl@)
(A sg 1 O (@0 =]
™ ®m G D b ;._Im - ,_]1 S | Tﬁa'J
o JE ia, e e o e B 1 o 5 e
%\ 18 pEm A ¥ i A A A
wrerd 7T femmd 2t
i AL . mmﬁmf:
TH SATRfeET S -il' — e
l _Ir N lr % 1 3 | ‘ A ? |
NN Y EIEIGIR
l[T ” LM 5 ] T
= Ll EL R e
o s ' “@E'ln ool /ool gﬂ]
?ﬂ | BleoRical ool
[Tiw] - 0 { (B} i-“m ]}
P 15, m@ﬂmt w7
S QD = 69
P T o %
!&[N%LE‘!@ OO C@
- IR | I ' | i
Ty ®) ©) ) B A Nt
T wE F e W
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46.  How many circles are there in the following figure ? | 49, Which answer figure includes all the components
given in the question figure ?

Question figure :
47. A piece of paper is folded and cut as shown below : B{}H J
in the question figures. From the given answer -—_
figures, indicate how it will appear when opened.
J Tﬁm: Answer ligures :

A,
(A) (#) (© (D) >/

1. Aword is represented by only one set of numbersas [-30- <If a mirror is placed on the line MN, then which of
given in any one of the alternatives. The sets of \.t!'IE' answer fgures is the right image of the given
numbers given in the alternatives are represented. | figure ?
by two classes of alphabets as in the matrix given.-,
below. The columns and rows of Matyiv-are Eiacalbom Bl
numbered from 0 to 6. A letter from the matvix can wHon T gure:
be represented first by its row and mext By itdcalimm,

&g, A’ can be represented by 42,62 etc., and 'P M
can be represented by 15, 43, ete. ‘Eiir:ﬂl.arlhpuu have
to identify the set for the wﬂfd‘CALM
Matix |/ %
o[1[2]3]a]EVe]
——— |
1 |H|R|E| & | B8 N
215G NJ B 211
3|8 |ULFPTTE]|L Answer figures
d(ViafP|ClY([A
= -1 S S— L
3 MWl O X | N 1 '
s BlAafTE[1|L]O N ‘ ,
e, .4 ﬁ ! A |
(A)"-53, 54, 51, 31 (B) 44,54, 65,24 i |
(& 44 62, 65,51 {D) 53,42, 65,36 (A) {B) (Q) (D)

SPACE FOR ROUGH WORK
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freiffiaa amgfn 4 i gm &7

(A 13 ® 14 [© 11 (D 12
44wy arpTodl d frEm AT W W A
HIZH T Eie % W T R T s i
Tm?

prageicane

e

| o o
el
il

& (B S D)

U Y T W wE gR) wnrn e g, |

fo formedl o | ford) o5 o fam T ) Fasemi A

B3
(8 1:3] [y

HA-H1 T I § W S o w92
e €7

W WA

—3
ODQQH |

mmﬁm‘fé :

7

&

(DY

|
I |

50.. . =fz uF Tdm F MN T W T A, @ m T
fam, o wwm-wE agd F 9w gm g E TR 1 8 T ST e e e Wt
o foF i fau o omegw 0 &1 o R @l #refr
wife i HEn oA 6 ¥ m # ) 90 Ay A s AErw
vee) I W S A J ) wE gy e - W T
wEa ) TR % fo, A 42, 62,/ g
T 1w TP 15,40, 90k g et . M
wE &1 TEl WE B A W, ICALM ¥ e e  E—
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FOR VISUALLY HANDICAPPED CANDIDATES ONLY.

41.

Directions: In questions no. 43 to @6, select the velited
letter/ word from the given alternatives,

43.

From the given alternative words, select the wond
which cannot be formed using the letters of the given
wiord :

EATIOMALISATION

(A) SALINATION (B

{q IONISATION N}

STATION
STATIONS

Which one completes the series
7,220,599, 176, 527, _ 2
(A} 1580 (B 386 (O

703 (Cp 1054

If in a language PSYCHOLOGY 15 coded as
RUAEJCIOIA, what will the code GPUDONOLA
stand for ?

(A) ENTOMOLOGY (B) ENTOPOLOGY
() EMBRYOLOGY (M ENTROLOGY

Finud the odd word from the given alternatives.
(A)  Witchcraft (B}
) Wood craft {0

betal craft

Cane craft l

RED:EFS::BLUE:_ ?

(A) FUNC (B)
Q  FVMC o

GYNE
DTEA

RKabindranath : Gitanjali< - Maxim Gorky: _ F
{A) Mother

(B)  Pareenita

QO Crimeand Punishment

O Midnight's Children

ABRDY -DUWXEFVL: _ 7.
Ay HGTS (B) T5HG
(& HGST Oy GHTS

46.  Bhimsen Joshi : Classical Singer : : Raja Ravi Verma ;
2

47,

44,

S S

(A)  Great Painter (B)  Great Dramatist

(5 Great Dancer D) GreatSinger

Four men Ram, Shyam, Jadu, Madhu are married to
Rama, Shyama, Jaya, Mala, not necessarily in that
order. The couples live in Raipor, Shikhar, Jammu,
Mumbai, again roet in Grder.

(1) The firstlettor of the names of men, their
wives and their cities does not match,

(2) Shyama isnot Jadu's wife,

@~ Jadudaoes notlive in Mumbai,

Whoris Tadu's wife ?
(&) laya (B Mala
i) Rama (D) Shyama

Equation given here follows a certain characteristics.
On the same basis, find out the correct answer for
the unsolved equation.

345+6=467,1+2+6=23/,54+7+1=17

(A) 637 (B 480 (O 683 () 567

There are five huts ina row. They are named DIKOM.
s ko the right side of K and left side of D s to the
right side of D and left side of M. Which hut is in the
muddle
(A) K

® D © O @ M

Ina row of girls, Maya is thirteenth from left. Molly
who is twenty third from the right is third to the
right of Maya. How many children are there in the
row ?

(A) 3 (B 35 © 34 [O 38

SPACE FOR ROUGH WORK
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¥ fefrfmfEdiidimmInafttmes |46 ol e s T daa .2
& ] T Tl A .
; (A) TEF famn (B TR AR
RATIOMALISATION
(A) SALINATION  (B) STATION O wE e D)  WeM/meE
{C  IONISATION Dy  STATIONS
Y 47. ER #EH! W, AW, ¥, 7Y w1 wm, v,
w0, Frefefen o w1 #5- den @ il ? W, BN & e g & e g | g
7,20,59,176,527, __? Ty, fore, Wy, g Fomd FiEg o ww A
(&) 1580 (B) 586 (O 703 (@ 1054 gl
() e, a o o o e S e F
41 g fwt s § PSYCHOLOGY %1 RUAEJQNQLA oW 3T ST i e e
% = | wifgn fism wmn § F GPUQOQNQIA T2 -
frmE femerm 7 () ¥R, Vg T T8 R
(A) ENTOMOLOGY (B) ENTOPOLOGY @ =, g ol
) EMBRYOLOGY INTROL e M
(%] O}  ENTROLOGY S
42, fan T famed # @ fm o i) (A)., =0 (B  HER
(&) Witchcraft (B) Metal craft ) T ) E
(C  Wood craft Iy  Canecraft
Porlor ; e w43 @ 46§, Fem u ] A wofagy | 48 T R T e e fad fram @ e w0
v =y F1 % A fa T W W W T 3 A
3. RED:EFS.:BLUE: ? o "
{A)  FUNC (B) GVND I4546=467. 1424+6=237,547+2="
) FVMC (D) / TITKA (A) 687 (B) 460 (O 683 (D) 567
“ W Gl o o SN T 49. UF U # uf= gtz # ) =9 T DIKOM E | K
Ay #= w g A am D wtEE Ao L pF T A d
0 wEEyEYR WM K ® D © O @ M
Ly fEERE faegs
50. TR =i Gfad o, I 7 9 G Je W g ot
45. ABZY DEWX::EFVU:_? WD 23 o or & oen & wfg @ de o
(A HGTS (Bl TSHG v o F Tl waiwal A= § 7
(L, HGST @ GHTS (A) 36 (B 35 (O 34 (D) 38
TF 14 & 7 9T
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PART - B
GENERAL AWARENESS
51.  In which part of the Indian Constitution, the | 59 Emrmhwﬂamyumehasmﬁmarynfﬂw{ulhmg
fundamental duties are enshrined ? branch of Economics :
AN VB B V O N DO VA {A)  Fiscal Economics
(B) Intermational Ecomomics
52 Who was the Viceroy at the time of (Quit India i)  Macro Economics
Movement ? {0}  Environomics
(A} Lovd Wavell (B) LordLinLithgow | g9  which of the following is an |mpa.ctpnnler'?
(-} Lord Irwin i} Lord Mountbatten {4)  Bubblejet printer
53. Hypothermia occurs due to loss of excessive heat E‘S Iﬁ?f m e Hig
from body due to sudden low body temperature in : 4 )
: . (0} Inkjetprinter
(A4 Human beings (B)  Lizards 61, Bloodi
Snakes F ‘ it A o
e = e (A) epithelial tissug
54. India and Japan inked two agreements during (B)  muscolar tssue
MNovember 2012 to enable Tokyo to import from (L) reproductive tissue
India ) confmechive tissue
(&) Basmatitype rice 62, Firgk Hindu-American to enter in the US House of
(B  Rubber based products IREpresmtalwe a5 senabor s -
()  Leather goods g jﬁ:gmguph
: ; era
[}  Hareearth minerals (0 Tulsi Gabberd
55.  Communication satellites are used to: - () Sunita Williams
(A} receive and redirect communication signalc. |83 The hormone used as an oral contraceptive is :
(B)  provide information of natural resources emly -1~ %) Progesterone (B)  Testosterone
({Q  transmit communication signal only > - ©) Aldesterone () Cortisone
(D)  receive cornmunication signal only 64.  Blood group was discovered by :
~ (4) Landstemer
56.  The"One Straw Revolution” was wrifen by ® Paviov
(Al M.S. Swaminathan : ()  Alexander Fleming
(B)  Morman Borlaug M William Harvey
() Masanobu Fukuoka 65. Identify the odd term amongst the following
(B Hichael Carlson Eraup
. i (A} Twisted pair wire
57.  The eastward continuation of the Brazil current is M Microwaves
called : () Coaxial cable
[y Counter Equatorial drife My Optical fibre
(B)  West Atlantic drift 66. Who wrote the book "Why Soclalism” ?
() NorthAtartic drift (A}  Acharya Narendra Dev
@ SonthAtlantic drift ® MNRoy
; : () Jayaprakash Narayan
58. The 'h"'.-'i_'SE Prize-2012, also known as the “MNobel {0  Mahatma Gandhi
P for Ed conferred WISE
SEL08 PicRtin” wie el by the 67.  The most powerful woman in business in India as

S'L.ln‘Lmﬂ in Doha on :

fA}' Dr. Yash Fal

rm ' Dr. M5, Swaminathan
() Dr. AP] Abdul Kalam
M Dr. Madhav Chavan

AA 2013/ Pagel

rated by the “ Fortune® for the year 200125 :
(4)  Debjani Ghosh

(B  Anjali Bansal

iy Chanda Kochhar

)  Prabha Parameswaran
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Who was not a politician ? 78.  Non Resident Indians (NRI) Day is marked on :
(A)  SL Bahuguna (A} January 17 (B) January 19
B} . Javalalitha O January7 0 January 9
FS} f ;N(':i‘_‘:':g"m 79.  What is the first sermon of Buddha called as ?
S i4)  Dhammachakkapabattanasutta
Multi-purpose river valley projects are the “New (B) Kachchayanagottasutta
temples of modemn India”. () Mahaparinirvansutta
The above statement is made by - {0)  Brahmajalasutta :
{A) Mahatma Gandhi '
(B)  Rajiv Gandhi 80.  “WhetherIearned your vote ornot, [ have listened
)  Jawaharlal Nehru to you, | have learned from vou. You have made me

a better President”, assaid by :

Motilal
(D) otilal Mehru (A) GeorgeBiudh

Endosulfan spray on cashew crop resulted in the B AP] Abdul Kalam
pollution to the tune of tragedy in: ()  Pranabhukherjee
(&) AndhraPradesh (B) Kamataka D) Barack Obama
{0) Tamil Nadu M Kerala ; '
§1.  Diamondsare priced higher than water because :

The disease that has been eradicated from the world (A} thet’ marginal utility to buyers is higher than
is: that of water,
(4)  Poliomyelitis (B}  Chicken pox (By ' their total utility to buyers is higher than that
) Small pox O Leprosy ! of water,
Steel is more elastic than rubber because it - (SF  consumers do not buy them at lower prices,
{4)  isneverdeformed (DY they are sold by selected firms with
(B)  isdeformed very easily : ERONORoihe powers.
{C)  is harder than rubber 82, " Aung San Suu Kyi is a native to:
{0} requires larger deforming force (&) Myanmar
‘Farad’ is the unit of ; E}} ::.:;l:acha] Sl

' 5 1
A Inductance {B) Resitance ©O) China

) Conductance I Capacitanoe

83. Who of the following enjoys the rank of Cabinet

In dicots the pollen-grains possess Minister in Union Cabinet 7

(A)  three germpores  (B)_, foyrgerm pores (A}  Secretary to Government of India

(©  onegermpore _ (Q)_two germ pores (B)  Political Advisor to PM

Acceptable “ Noise Pollution Level” in India range {0 Deputy Chairman of Planning Commission

between : (O Judge of Supreme Court

{A)  40-45dec (B)  70-100 dec 2 ,

(2 10-15 deg D) 16-35dec 84. Ethancl containing 5% water is known as
(4)  Poweralcohal

“Functional Finance” is associated with : (B)  Rectified spirit

{A)  AdamSmith (B)  Adams () Absolute alcohol

Q) Abba’Flemer (D)  Adolph Wogner @  Dilute alcohal

Expand the term IPCC: 85, Where are the Todas found ?

(A= interim Panel of Climate Change {A] Rajasthan

(E) - Intergovernmental Panel on Climate Change (B)  Arunachal Pradesh

(Q  International Pollution Control Council (O  Madhya Pradesh

M International Fanel of Climate Contral @ Tamil Nadu

AA 2013/Pagel4 222 KM 5
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Pick vut the correct match :

{A) Fish - Starch and Vitammin
B Milk - Fibre and Minerals
5 Eggyolk - Protein and Fat

0y Fleshy foods - Calcium and Protein

The percentage of nitrogen present in ammonium
sulphate is :

Ay 25% (%
S 18% D)

305%
21%

The natural disaster in which carbon-di-oxide
suddenly erupts from a deep lake water is known
a5 .

A Fluvial (B
{O) Liminic

Glacial
([  Lacaustrine

Stains of rust on clothes can be reioved by

{4)  Pemol (B)  Alcohol

C H0, (D) Oxalic acid

The vacancy of the office of the President must be
filled within :

(A) 12 months (B)
O 3Imonths ™

1 manth _
Eumnnﬂ:m_ 3

What tvpe of information system wnum be
recognised by digital circuits ?

{A}  Both hexadecimal and IJIrlli]_i'_llr"'ﬁ.]l‘thl-l.'l
(B)  Only Romansystem “.

£ Hexadecimal system .

T Binary system

Which of the following isan endemic species ?

(A)  Indian Rfine, ()  Pink head duck
{00  Nicobarpigesn (D)  Hombill

DPT waccine'is administered to prevent diseases
likes

(41, Dengue, Pertussis and Tvphoid

4] 'Dengue, Palic amd Tetamus

{(',i 3 Diphtheria, Pertussis arul Typhoid

[  Diphtheria, Pertussis and Tetanus

AA 2013/ Pagelt

E

Indira Gandhi Prize for Peace, Disarmament and
Development - 2012 was awarded to:

(A) Chanda Kochhar

8  Ellen Johnson Sirleaf

[C) Tereza Fajksova

M  Sunita Williams ;

Whe described the Government of india Act, 1935
as a new charter of bondage 7

{A) Rajendra Prasad :

{B) Pu)awaharlal Neke

{C) B.R. Ambedkar :

(0)  Mahatma Gendhi

Who gave(hatitle r;lf“"-hha-nwna 1o Maclan Moban
Malviya?

A fﬂpﬂihlﬁma Gokhale

{B} Mahafr..nu Gandhi

(S Bal Gangadhar Tilak

ADy| Dada Bhai Naurozi

Fram which of the following banks did Madan
. Mghan Malaviya take loans for financing “The
*, Hindustan Times" ?

“[A)  Bank of Maharashtra

100.

{El Bank of Baroda
) Setate Bank of India
M  Punpb Mational Bank

2 the following land uses, which is restricted to
Special Economic Zones 7

(A} Freetrade Centres

(B  Marketing Centres

) Information Technology Companies
i}  Educational Institutions

Transboundary pollution {or) Acid rain is caused
by:

{A)  Carbondioxide

(B}  Hydrocarbon

fC)  Nitrogen oxide and sulphur dioxide

M Carbon monoxide

Wha was the other Congress leader wheo joined with
Motilal Nehru to start the Swaraj Party in 1923 7

(A} Chittaranjan Das  (B)  M.K. Gandhi
) GKGokhale (I B.G. Tilak
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w1 o g
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B Tm - et
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(A) 25% (B) 305%
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7

(A) &, wret wiE, TawiE

(82, Sife, frzm
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Dy Tewifen, wEh a6, frzag
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PART - C

QUANTITATIVE AFTITUDE

ABC is an izsosceles tnangle such that AB = AC and
LB=35" AD is the median to the base BC. Then
£BADIs:

(4) 35° B 10 © 55 O
33 1_? ."-311 .

o2 (47 ~(2) e

@ 2 ® 5 ©O 2% @O -2

[‘E[:+l]=4,th:nth:vﬂmn[ e Lis:
X ;r"
124 (D) 64

A} 194 & 81 ©

In atriangle ABC, AB=AC, #BAC=40F. Then the
external angle at B s :

W o/ ur © s O W

If sec 6+ tan 6= 2+ /5, then the value of sin 8 + cos 8
is:

7 L 3
A 5 ® [F © JF @ =
The average of 50 numbers is 38. [f two humbers
namely 45 and 55 are discarded, the average of the
remaining numbers is : i

(&) 325 B 375 @ 36D 35

If a2+ b2 +c2+3=2a~b—c), then the value of
la—b+cis: '

A 4 ® 0 @2 m 3

A man buys 3 cows uﬂﬂgoamm?ll?,ﬂ]ﬂ Instead,
if he would have bought 8 cows and 3 goats, he had
o pay ¥ 53,000 more. Cost of one cow is :

(A) T12008 - - {B)  T13,000

QT @ T 11,000

A can finish'a work in 18 days and B can do the
same work in 15 days. Bworked for 10 days and left
the job. in how many days, A alone can finish the
remaining work ¥

Ah 5% ® 5 © 8 @O &6

11,

111.

112, .

113.

114.

115.

The degree measure of 1 radian (taking = i‘}].
is:
&)
(B)
i
(O

57 16' 12" (approx.)
57° 22 16" (approx.)
57° 22" 16' {approx.)
57°61' 22" (apprim.)

If ABCD be atectangleand P, Q. R, 5 be the mid

points of AB, BC,CDand DA respectively, then
the area of the quadnlateral POQRS is equal o

) % aria (ABCD)
B % area (ABCD)
-;T area (ABCDY)

1D area {ABCD)

Equation of the straight line pim]]E']l o x-anis and
also 3 units below r-axis is

A) =3 (B)
) x=3 o

if p—2g=4, then the value of p* = 8¢ = 24pg — 64
1%

Ay 0

y=-3

x= =3

Q -1 O 2

If 10 men or 20 women or 40 children can do a piece
of work in 7 months, then 5 men, 5 women and
5 children together can do half of the work in:

(A) 4 months B 5months
(¥ Hmonths 6 months

m 3

Ot of 10 teachers of a school, one teacher retires
and in his place, a new teacher of age 25 years joins.
As a result, average age of teachers s reduced by
3years. Theage (in years) of the retired teacher is:

A 60 @® 55 © 50 [© 58

SPACE FOR ROUGH WORK
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uFT - W

gftaromers sifista

ABC 7% wwigag faga #, famd AB=AC 7w
sB=35"%, =md AD, snuR BC F mferE ¥

AN, SBAD faEREm

Ay 35 (B 10" (O 55 O 7
e (3] (5) =(3) < 2o
A) 2 ® 5 Q 24 O -2

Ifz [1‘+%}=4ﬁ,?ﬁ r*+%'ﬁﬂ"lﬂﬁﬁ1—-ﬂ'ﬁ'ﬂ?

(A) 194 (B) 81 (O 124 (@) 64
% @ ABCH AB=AC, /BAC=40" %, BT
=m % e em

(A ¢ @\ 1 O 8* (D W

& sec b+ tan 6=2+ J5 w1, T sin B+ cos § 1 TH
=1 B ¢

:Iﬂl ol

v 1
W B ® T O F O

50 Tt % o 38 ¥ Afz 9 FEmd sl 450
55 21 91 Wi, o ¥ gEne = s fEora
= ]
(A) 325 (B 375 (O 36 AON33
A8 a2+ b4 c2+3=2a-b-c) - A 2a-b+cH
O faran 2m ? !

i 4+ ® 0 @© 2 D 3
T ofam 30 st 8 Wi # e 200 § wiem
afz =w3 & MU 3T 3 wEiE GO A, @ @
¥ 53,000 377 3 ) TEAER, TH A F FI-A

fFam it ? :
&) T 12,000 {8y T 13,000
i T 10800 O T1.000

AT s d s st e S s A F
F1gEareL B 9 =M@ 10 ] o s wre fem
AEa A wEA T wE ) e R A oo

110.

111.

112,

113,

114.

115,

1t | faaft F vy (= % AT PR B B
(A) 5716 22" (FTV)
(B) 57 22 16" (FPIV)
(@ 572216 ()
{0 57 61" 22" (FNT)

afz ABCD % ama @) ah B, Q, R, § FW:
AB, BC, CD a1 DA & awaiag ¥, @ 9949 PORS

w1 SR i awat Ey
() 3 ABCD) e
() i TABCE) =1 %9%H
- -}; {ABCD) =7 g%
o) 1:5.|3r:[:}1ﬁ1 AT

;-8 ¥ TR TR T, W - W 3T A

g eI W A Y

() (B)
.} ()
e p—29=4 7, T p* - 8g* - 24pg— o4 T TH T
B ?

Ay © (< o 2
At 10 T M 20 feal 1 40 9= v w7 A F
1 T B, 3 5, S o A s 9= O W T

y=3
r=3

y=-3
r=-3

m 3 -1

FEF s Ed AT s AR £ 7
(A) & wEHA B SHEN
©Q 8=EA Dy 6EEA

U Tarera % 10 SenTRT § UF F fEteEe T W
259 & UF T AVATIE THE TUE T A E
gfiomreasy 34 srvrmwi #1 o oy 3T FE R

Wt &1 TEET. IR faige §U AvITE #® AY
o ol 1 2

AT T )
(A) 5% @ 5 1 & @ 6 Ay 60 (B 55 (O 50 (D) 58
T &Y & g o
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116.

117,

115,

119,

120.

121.
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A man can swim 3 km/hr. in still water, If the
velocity of the stream is 2 kmy/ hr., the time taken by
him to swim to a place 10 km upstream and back
15 :

(A)  10hr. B} 12hr

bur.

| =

hr. o ¢

Lo | =

© 8

A train moving at a rate of 36 km/hr. crosses a
standing man in 10 seconds. Tt will cross a platform
55 metres long, in

1
{A) 7 seconds B 15 5 seconds
{0 55 seconds {6 seconds
Evaluate : tan1° tan 2° tan 3° ... tan §9°,
() -1 ® 2 i 0 o 1

The time in which T 80,000 amounts to T 92610 at
10% p.a. at compound interest, interest being
compounded semd annually is:

1

(A) 2years (B) 25-"“”

' ;
(© 3years O d5yeurs
The value of

cos 1%cos 2 cos 37 ... s 1 cos 178% cos 179 15 ¢

1 1
A 3 B .1 Q) ;) oy 0

A circular road Tuns around a ciroular ground. if
the differénce between the circumferences of the
outer circle and the inner circle is 66 metres, the

width pf the road is: (Takew= ?;?1 )

122,

124.

125,

126.

127.

128.

138

A shopkeeper marks the price of an article at T 80.
What will be the selling price, if he allows two
successive discounts at 5% each ?

A 72 B T8
o t72 D) e721

A chord AB of a circle C, of radius [v3 + 1}em
touches a circle Cz which s concentric to Cl' If the

radius of Cy is I:v"ﬁ = 1} cm., the Jength of AB is:
A 443 em

<)

843 em _ .[5}

4.3 em m 245 em

If [n'—tn +%] l5e'a perfect square, then the values

of |are;

A B @ 22 O =21 @ =2
If sind+cosecB=2, then the wvalue of
sin¥8 + cosec¥ B s -

(A) 2 | 4 S 1 o 3

On selling an article for ¥ 170, a shopkeeper loses
15%. In order to gain 20%, he must sell that article
at rupees :

(A) 21250 (E)
Q 210 )

240
215.50

The value of a machine depreciates every year by
10%. If its present value is T 50,000 then the value of

the machine after 2 years is 3
(&) T 45,000 B 40005
(& T 40500 @) ¥ 40,050

Number of digits in the square root of §2478078 is
(A) 3 B 6 © 3 o 4

P and Q are two points on a circle with centre at .
R iz a point on the minor arc of the circle, between
the points P’ and Q. The tangents to the circle at the
points P and Q) meet each other at the point 5. If

[A) 7 hetres (B) 525 metres £PSQ=2F, /PRQ=?
(T} 21 metres (M 10.5 metres (A} 200° (B) 1e0° (OO 100° (D) 8(0°
SPACE FOR ROUGH WORK
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116.

117.

118.

114.

120

121.
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wF =i fan ww F 3 fEityd. #onfa & & wwm
2| weTEw, aft wo-ww i ofa 2 fedtyd @ A am
wfm s wfEi s g A st am am §

e Ty =M 2
(A} 10% B 129
1 1

U TETE 36 T o, %1 i A T, O wE

- =afem H W w10 FEE w0 B AR, W

55 Hiex A F =W F U 1 F fEe o
It ¢

THEE

i 5—;-%%5

() ® 155 ¥

0 &HHE

HEHiFA B : tan 17 tan 2" tan 3° ..., tan B9,
Al -1 (B 2 i 0 o 1

ofe = %1 S Fg = a2 80,000 1 U
10% 1 waie =4 21 1 s o 52 92610
1w ?

1

w2 ® 257

[ 3= o) -I%?ﬂf

oos 1% cos P oos 3 . cos 17 cos T7R" cos 1790 <RI
o fn 7

(A) '1 ® a ~0 iﬁ o o

wqmﬂm_%ﬁﬁﬁnﬁﬁmmh
HEEN, 3 35 wEF & Tl a9 o st ga W

fefigt w1 2t 66 He & 8, A (x= 2 de) vew
F e far B 7

122,

123.

124.

115,

126.

127.

128.

129,

TF THEAEE UF a5 F g6 T 80 Afwq w0 #
wean, ot =% I T 5% 9w 9 i
o=, @ == faws e fEem Em 7

(4) TT2 (B T85

Q 72 o T2

(/3 + 1) %1, foemn A& w79 C; 1 AB, C,
& HfE UF 99 C, T W F FUaETEn, 1R g,
# famm (VB -1) & A H A F wad e
it 7 :
(A) 843 Fil
0 45

443 .
243 .

(B)
()

qﬁi’n,_,“l%}'ﬁm@aﬂﬂ,m,%mmﬂﬁ?

Ay 1,2-® 23 (@ =1 [ =2
| ﬂﬁ.ﬁinﬂ+ cosec §=2 B, T =in®0 + cosec? 6 F 71
A ?

W 2 ®m 4 O 1 o 3

TF 75 F1 T 170 § 491 W, UH gREASH B 15% H
wif @it # 1 FeEn, 3 20% e v fen 3 T

i o vl o S=n =nfen ?
(A) 21230 (B) 240
[ 210 D) 21550

TF HYiA F FiwG WA 10% T2 A § W,
ofg W TETE wEA € 50,000 W, 7 T w6 % T

HHE FT Fimw Ty 7 A ?
(A) ¥ 45000 (B) T 40,005
() % 40,500 () T 40,050

62478078 F A § sl F1 FEm feat 42
Ay By 6 © 3 o 4
P A Q, TF g9, faww ¥ o€, w fom 9 fAg §)
PAMIQF S W gA S o A M E g R #
=0 g9 %1 p awn Q fagai %1 ot Yard v A
faig st faemt &1 degEm, AfE 2PSQ=20091, @

A] T (B) 5.25%m=T £PRO 555 i gm 7
@ 2w 0) 105 HRT (&) 2000 (B) 1Ie0° (O 100° (M 80
T w14 & e g
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130,

131.

132

133.

134.

135.

136.
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Which of the following successive discounts is better
0 & customer {ajy  20%, 15%, 10%

or (b} 25%.12%, 8% ?
(A (a) is better
(B} (b)isbetter
(O (a)or (b) (both are same)
M  Noneof these

Three nunibers are in the ratio 1: 2: 3, By adding 5
to each of them, the new numbers are in the ratio
2:3:4 The numbers are @

(A
©

13, 30, 45 M 1,23

5,10,15 ) 10,20,30

The marked price of a mixie is ¥ 1600. The
shopkeeper gives successive discount of 10% and
% to the customer. [f the customeT pays T 1224 for
the maxie, find the value of x;

(A 12% (B 15% (O 8% ([ 10%

A chord of length 30 cm s at a distance of §em from
the centre of a'circle. The radius of the citcle s

w3 B/ 1 Q1 @ 1Y

A man undertakes to do a certain woek inl50 days.
He employs 200 men. He finds thatwnlva quarter
of the work is done in 50 days. - The number of
additional men that should be appointed so that
the whole work will be fintshed in Hme s

(A 100 (B) 12540 S0 (@ 75

1 .
If ——— == then the value of 1"+ L’i %
¥ =2x 41D X

(&) MO_(B) 125 () 27 @O 81

THe value of (sin? 25" + sin? 65" is :

2 J

Ay 1 ® 0 O 7K O 2

137,

138.

134,

140,

141.

142,

143,

The perimeter of the base of a right circular cone is
& em. If the height of the cone is 21 cm, then its
volume is | )

134

{A) o B) 112pcm?
108 :

(] = em” (1] lf_ﬂ'r':c.:m]'

The ratio of inradius and circumragius of a square
is

N 2.0 B 1:3
© 1:2 ™ 142
If AABC jssimilar tb ADEF such that BC=3 cm,

EF =4 cmand arex of AABC =54 cm?, then the area
of ADEFis

(A} ~TRem?
(S}, $em?

® %cm?
) 66cm?

The angle of elevation of a tower from a distance
100 m from its foot is 307, Height of the tower is .

i 200

A} 50 3m ® % ™
H

) 10043 m i) 5"

Civen A is 30% larger than C and B is 25% larger
than C, then A is what percent larger than B 7

(Ay 530% (B 75% (O 20% (D) 25%
If£=l—l.thenthevaluenf:—rz:is:
d da X
1 .
L s Q a Oy -a

AR and CD are two parallel chords of a circle such
that AB=10cm and CD =24 cm. [f the chords are
on the opposite sides of the centre and distance
between them is 17 ¢m, then the radius of the
circle

(A}
©)

13em

12cm (B
1 cm (D)

11em

SI'ACE FOR ROUGH WORK
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130.

131,

13

133.

134.
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e § wA-wi s g wiEn & fag dwan # 7
@  20%,15%,10%

W (B 25% 12%, 8%

(A) () AT

B (b)dIEE R

Q) (a) ™ (b) (EF o FE E 1)

[y e

fadEm1: 2. 3% s § & =79, v H s
st w W "o 23 4% sem o @ ow £
TETER, A wEd wE-H # 7
(A} 15,30, 45 {B)
() 510,15 (D)

1,23
10, 20, 30

v fomit 1 ifem 9o 2 1600 % | T T RN
F W W 10% W x% F OFE g ok
aeER, ofs wien & 9 fredt 5 7 1224 o o, M x
] HF FA S
(A) 12% (B 15%

€ 8% O 10%

30 Fft o T o, TE M F F A s W [
wEgan, 39 g9 %1 fem e 8

A 23 ® 21 ©@ 19 @O -17

T =iE U w150 e 5w A g
I0H = 200 =T FrgEm =0 2 T T EeE R
50 {21 O e ush- e w0 g ) ARER e
1 wH ffrw v W@ w2 F fon =8 fem
= sl Frgm w06 #02

137. TF #% g4 ¥ F smm o s oy

139.

140.

141.

I E w FAg 21 R B, A Tww =
#m?

(A) E:r—:ﬂ'm"- B 112 = AEP

© %#ﬂi @) P08 &P

T T w1 safm o ofhifsss = oaTm
T #?

(A V2:43 By, /1:3

Q 1:2 o 1:42

afs AABC,ADEF ¥ #9#% g 3t BC=3 ¥,
EF = 4 e 2901 A ABC %1 &7 = 54 FHI2 9, T ADEF

= e g ?
(A) 7R B 96 =R
() ) 54 e D) 66 B

T WA IR AR 9 100 U F g # =
T 300 | TR 3 HAR F San fw #2

- 200

(&) 5043 i ® T i,
100

(© 10043 © = i,

g A CENs T AR E CH B TR, @
A, B fr wirms a1 dm ?

(A) 50% (B 75% (O 20% @ 25%

(&) 100 (B 125,050 (@ 75 a a x
1 1
135, '-qfﬂ - X =l€f . ;3+L@Hmfﬂ?{ (A) E B) _; {1:] a {D} =a
¥-2x+ 1 T
Ay /5 143, AB @91 CD, V% T8 1 ¥ WHAAR e #, fad
: e AB=10 1, 701 CD =24 #5ft. #1 Fegaw, af &
W Nl 125 © 27 @ Bl i st o ot s e = 2
136. (sin®25 ¥ sind 657) %1 °A fm &7 17 #7, 71, 1 =0 79+ fowm fEat #2
" 2 J (A) 12 7HH. B 13 ¥,
(A B 0 0 #F O = (10 oy 11
% &4 & fed W
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Drirections ; Questions no. 144 1o 146, the Folfﬂwmb
pie-chart shows the number of students admitted in
differcnt faculties of a coliege, Study the chart and answer,

Education

I i e
I‘-'l"" N\ *'|||}n| h\x
.fr S Arts
e -l'i-"' y !
Cummeroe J'. x\./l
"'\'._.L
""*_—_—i-""
ST
144, IF 100D students are admitted in science, wlat s the
tostal e ber of students ?
(A} 1800 (B) 300 (O 360 (D) 180
145, 11000 students are admitied in scisnoe, what is the
ratior ool students fn scivooe and arts ?
(Al 75 B Ve (O 5:6 () 6:5
146.  Huoww imany students ane iorne in commwree than i

faw 31 TOND studenls are in science 7

(&) 2000 (B S00 O 20 (D) a0

Diirections : Cuestions no. 147 to 150, Study the two
pie-charts and answer the questions.
a J'
— |
T o, - Efucation ! -"|:.—T
§ A 1 B-Savings ™
Al ||’|0-I'|I||:-|| pa—y = o I PO M"T He o) LF \
sakare F\PH% D - Electracity e | ST
F 20000« '\... |" ) |'|‘|'Ill'|l'|l!|1||5 | ¥ 000, 0 .|'
.._l'.._' I'E”"F_.-' - Mscellaneous e 5‘-'- o
P . i~
Cd% T * Fie chari | B chart *

147.  The average amount spent on-Edacation, Grocery
and Savings from Aprlmonth’s salary is:

(A) T 6000/- B T 6325/
©  T5520- (O ¥ 5800/-

148. What is the percent increase in Education in May
month thanApril month ?

(&) _1335% ®  20%
O ~-10824% o  958%

149. The ratic 9f amount spent for savings in April
manth’s salary and miscellaneous in May month's
sfariyds
)~ 217 : 26 (B) 205:13
{0 235:50 D) 216:725

150, " From the salary of May, the amount spent on Grooery
and Electricity are :

(A) 960, 2 5040 (B) 73500, T 2250
Gy T 2160, T 480 0y ¥ 6250, 3360

FOR VISUALLY HANDICAPPED CANDIDATES ONLY.

144, A man walking at 3 k. crossds s squidre field
diagonally in 2 minutes. The areaof the field is :
{A) 5000 m* B w0 m?

() 2500 m? M4 - W00 m?

145.  The average age of fourplayers is 185 vears. If the
ag of thie coach is alsaincluded, the average age is
imcreased by 208, Theage of the coach is
[ M years [E] A7 vears
(L) 2Raears () 34 yvears

146, |F 7227714 divisible by &, the missing * digit will
Lt
A _Rurd (B) Soré
= Durd By 3oré

147, lfa=zxband b=ay, then the value of + ]
: x+1 y+1
15
(A)  2ab (B 1 < a ™ b
148, M sint+cos= 2 ,then the value of § (0" < 8 <90
i5
(A) 60" (B 90 (Q 45 D) wr
149. AABC and ADEF are similar, [f 5 AB=2 DE and
EF =10 cm, then BC is equal to:
(A} Bom B} Bcm
(&) Zcm iy dcm
150. If x, y are real and x*+ y? + 2= 2(y—x), then the

value of xis:

W o @ -2 O 1 D -1

SPACE FOR ROUGH WORK
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e : v w1 | e, T e A T e F
fafvs war & wow W B w SEn w1 gnE T E
TUF AU W W & T S |

144. ofz faemm 7 1000 vt =1 vy e B, @ 3 oo
i wEm fwm g
(A} 1800 (B) 3600 (C) 360 (D) 180
afe fagm o 1000 #7a =t wiw fren @, & fage am
HE % BT W A e g

Ay 733 B 7:6 (O

145,

56 M 6:5

Tfe fagm o 1000 o5 #, @ afres & ol 1 gen,
fafiy & =i @ feeh = &2

(A) 2000 (B) 500 (O 20 (Db

146,

200

Prdwr : w9 e 147 9 150, SF1 FAERE T AETE wE
W & Fe wfEm

O gy, AT LT
— A iEH-__I':. :‘::-:ﬂ P r._-'l'...: i T
¥ i .'. L T i T | B
T umek I“\ .ﬁ.':,._.‘“:;,-’ |-m‘ rEenk A
ci s
147. atha oo % A 3 foen, femrat 2 798 o w5
e i o e
(A}  Te000/- (Bl A 6225/
o T362/- AN T sy
148, #IS T Ft gt s v wE 4 foen F =4 § R
v =1 7ig 5 B
(A} 12.35% | 20%
O 1Ry 0y U5k
149, A WEH R 2 =7 T 0fn W 9 wE A
A'Efaras =t ofn = s feaw
AY 27 26 (B 205:13
(0 ~235:30 O 262
150, ®% 94T | fm o fa=e w e nfm ==
i

(A) T 960, T 040 (B 3500, T 2250
() T 2160, 2 450 (Th #6250 % ¥in0

Had gite amiyq seirgard & oo

us =afam *1 3 fefl e, %1 iy & Te v owiEw
e %1 famol: v w0 | 2 foe w1 £ A=,
31 T2 F S ea fEam
(A] 5000 T2 (Bl

184,

smg T
Q2500 #12 (DY 13000 w2

o faenfed] %1 st w5t &) of 7% W
%19 Ft Ayt WEA v A, G e 0% T’

145.

| fwE e ?

i |

147. WRa=1bTWMb=ay ¥, A ] .

A

(A) 20b B 1 [Q a (M b

148. WfE sinf+cosb= 2 B A0 (0°<f < 0F) T A
e g 2

Ay sF B ¢ (O 45 D A

o | T % e P &2 149. AABCA ADEFHTEN #| T 4f2 5 AB = 2DE Ao
(A =i B 37w EF = 10 9 ¥, 7 BC PRk s i ?
@ 28 Oy 34 (A) 6T B RES
146, dfs 7aev2 s ¥ gR At e an w @, A @ 2@ @ 4w
T PSR- ? 150, FfE x, y AT B, 3 12 +.u-l—1=:[1r—.1:|?:'|, M
Ly, 0m9 @ 394 W 0 ® =2 1 M 1
% e & ford we

AA 2013/ Page25



www.eenadupratibha.net

PART-D
ENGLISH COMPREHENSION

Directions : In question numbers 151 to 155, some parts of
the sentences have errors and some are correct. Find out
which part of a senfence has an error and blacken the

oval [@] corresponding to the appropriate letter (A, B, C).
If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

151, MEMHMM
{(A) i

MNoError.
D)

152. The teacher, as well as the students, /
(A)

have gone on an excursion /
(B

mwum&mnfm

154. Ypy can eat / as much as vam like /
{A) B

ﬂUhﬁmiﬂ.\'JnEh.er'_._FﬁE}_[

155. ThecrielTady made fﬂm@uﬁum_mx

(AY
all the household chores. / No Error
(<) (o)

AA 2013/ Pagelt

Directions: [nguestion numbers 156 to 160, sentences are

given with blanks to be filled with an appropriate word(s).

Four alternatives are suggested for each question. Choose

the correct alternative out of the four and indicate it by

blackening the appropriate oval [ @] inthe Answer Sheet.

156. _________ the people looked 'well ehough, but
when one looked more closely one-saw that their
faces were filled with despair,

(A} At first observation
(B)  Onfirstsight

(C)  Atfirstsight

D)  Aefirstlooking

He wasfiol & man
(A} ladeveidof
(B dhsent of

(1| empty of
) lackingof

157, intelligence.

He was assured by his friends ___ every
type of help in an emergency.

(&) of

(B with

() about

O by

158,

158, Owur monthly expenditere by five

hundred rupees when we decided to buy milk from
the mulkman.

(A} gotup
(B} lifted up
) grewup
D) shotup

160, The work __ .« heloft his office.
(&)  having been completed

B  onbeing finished

(0} having been owver

@) having completed

227 KM 5
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In guestion numbers 161 to 163, oul of the

four alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161, Students are asked Lo ¢ollate for an important

progranmme by the principal.
(Al narrate
(B)  prescribe
(T} assemble
{1 describe
162, Advocate:
(A}  support
(B)  determine
() predict
D  pronounce
163. Treamble:
(&) conclusion
B  imtroduction
() delinition
LY mediation
Directions: [n question numbers 164 to 166, choose the

word opposite in meaning to the given word arid mark it
inthe Answer Sheet.

164. Ambiguous:

{A)  clear

B simple

i} easy

%  plain
165. Accolade:

(A)  seticent

(B) decorate

{0 pa'meﬁti--'

D) blame
166. Wasy:

(AT daring

®) . thifty

(0 rash

{0} conscientious

AA 2013/ Page27

Directions: In question numbers 167 to 171, four
alternatives are given for the [diom', Phrase underlined.
Choose the alternative which best expresses the meaning
of the Tdiom', Phrase and mark it in the Anawer Sheet.

167.

1h8.

169

170.

171.

To play second fiddle.
(A} takeasubordinate role
{B)  todoback seat driving

) tobehappy, cheerful and healthy

(4 o reduce the imporiance of bne’s senior
Villagers alway¥ calla spade a spade.

4)  tocallsbmedmea'spade

B tospeakillabout someons

(O | to'speak about spades

(o h:rs].u:;tk in a straightforward manner

'Mary broke a dining-room witddow and had to

[ace the music when her father got home,

' A4A)  askalotof questions
(B)  listen to music
(33 accept the punishment
M listen carefully
Why are yvou j i T I'wasnt
even in the house when it happened,
(&) scolding me
By forcimg e boeat
{5 running away
1 making ajoke

I am out of my wits and therefore cannot find a way
to solve the problem immediately.

(A4)  helpless without power
(B tolally ignorant

() notintelligent enough
(D} gmaltl}r confused
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Directions: In question numbers 172 1o 181, a sentence/
part of the sentence is underlined. Below are given
altermatives to the underlined sentence / part of the sentence
at {A), (B) and () which may improve the sentence. Choose
the correct alternative. Incase no improvement is needed
vour answer is (T,

172  During his long discourse, he did not touch that

point

{A) touchupon
(B  touchin
() wouchof

[y MNoimprovement
173. The workers are hell bent at getting what 15 due to
thiem.
{A)  hell bent on getting
(B} hell bent for getting
({C)  hell bent upon getting
[ Noimprovement

174,  He who will bid the highest will get the product.
(A4)  whobids the highest

(B)  who the highest bids
()  whowould bid the highest
M  Moimprovernent

175.  If he had time he will call yau
(A) would have '
{B] would have had -~
{C}) has :
) Nn-impqumml-

176, We ara lngking forward to see you tomorrow.
(A, 1o5kihg forward towards seeing
B . looking forward for seeing
(O looking forward to seeing

M Noimprovement
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177

178.

179,

180,

181.

The clients are waiting oubside since morning and
will continue to wait until you meet them,

[4) havewaited
have been waiting 5

were wailting

90 %

Mo improvement

John had told me that he hasntdone it vet.

(A  wold
(B} tells
i wﬁs 1.Q||'i|.1-g :

) T Noimprovement

Th:i-}'mu]d not tell me why did he ot eat his lunch,
(%) why not had he eaten

| (B}  why he did not eat

10 why had he not eaten

(0} MNoimprovement

He may have grown taller when | last saw him.
{A)  from when [ last saw him

(B since I last saw him

() before ] lastsaw him

M Noimprovement

While crossing the highway, a five year old child
was knocked put by a passing car,

(A)  away

B up

) down

(I Moimprovement
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Directions: In question numbers 182 to 188, out of the
four alternatives, choose the one which can be substituted
fior the given words / sentence and indicate it by blackening
the appropriate oval [ @ | in the Answer Sheet.

182. A school boy who cuts classes frequently isa:

(A} Truant
B Martinet
Q) Defeanst
{©  Sycophant
183. One who cannot be corrected |
{A)  Hardemed
B Invulnerable
)  Incurable
@  Incorrigible
184, Detailed plan of a journey :
(&)  Schedule
(B} Ninerary
€}  Travelogue
D) Travel kit
185. A general pardon granted by the/Covernament to
potitical offtenders,
(A)  Honesty
(B)  Amnesty
) Pardon
0 Excuse
186. A person/iwhic consumes human flesh :
(A) Captor
(T Cannibal
@ Javage
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187. Stealing of ideas or writings of someone else.

{A)  mesmerism
(8)  plagiarism
{C)  autism
(M scepticism
1688. Omne who hates women :
(A}  Ambivert
(B)  Misanthrape
(O  Misogyrist
D) Misogamist

Directions: In question numbsers 1689 and 190, four wards
ant givien inceach question, out of which only ong word is
correctly spelt. Find the correctly spelt word and mark
wOUIT arswer in the Answer Sheet.

189. Software companies have ushered in ____
) culture along with advanced technology.

{A)
®
©
)

forigen
foredgn
foriegn

foreegn

190, The laboratories are

electronic gadgets.
(A) egiuped

(B}  equepped
Q) equipped
D) equpped

with high-tech
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Drhirections : In question numbers 191 to 200, you have two
passages with 5 questions in each passage. Read the
passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [ ] inthe Answer Sheet.

Passage - 1 (Question numbers 191 to 195) :

The World Health Organisation is briefly called
WH.O. Ttis a specialised agency of the United MNations
and was established in 1948,

International heaith workers can be seen working
in all kinds of surroundings ; in deserts, jungles, mouniains,
coconut groves, and rice fields. They help the sick to attain
health and the healthy to maintain their health,

This global health team assists the local health
workers in stopping the spread of what are called

communicable diseases, like cholera, These diseasescan |/

spread from one country tn another and socan be a d'lreu
to world health.

W.H.O. assists different national health agthorities

not only in controlling diseases but alse in preventing them
altugether. Total prevention of discases 1& p;uaﬁiﬂe in a
number of ways. Ewveryone knpws hiow peaple,
particularly children, are \rnnci.natal.'l.:'rgain.!it one disease
ar another. Similarly, most peaple ari familiar with the
spraying of houses with pnis:::ru:l;.l-s st pstances which kill
disease-carrying insects. '

191, “Intermationn] health seorkers can be seen working
in all kinds of sugroundings : in deserts, jungles,
mounkains, citonl groves, and rice fields”. Here

Imternatromml means |

(A)

{B) —belonging to an organisation which has
something to do with different nations,

belomging to the whobe world

belitving in conperation among nations

”{q'

(D} drawn from all countries of the world
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192, *Ttis a sperinfized agency of the United Mations and
wis established in 1948." Here gpecialized means ;

(&) extraordinary .
(B  uncommon
(&) made suitable for a particular purpus:.-r
LY expert
193, “W.H.O. assists dffercritnational health authorities
not only in cn'n.:rufling diseases but also in
preventing them altogether™. The above sentence
implies that : L
(4)  WH D, sssists in controlling diseases only if
they h.:.w' not been prevented.
B W.H 0. assists both in mmmllm.g diseases
)| fand in preventing them.
K3 W.H.O. assists many others in addition to the
mational health authorities.
! :I,'D'I W.H.O. assists more in preventing disexses
than in controlling them.
194. "They help the sick to attain health and the healthy
to maintain their health™. Here they stands for ;
{A)  international health workers
B jungles
(Cy deserts
M@ ricefields
|
195. “Total prevention of diseases is possible ina nmﬂbﬁ

of ways". The author has given illustrations of :

{A)  only fwo such ways

{B)  only one such way

{Q)  more than two such ways
(Y  none of these ways

12 KM
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Passage - [1 (Question numbers 196 to 200) :

Why don't I have a telephone ? Not because |
pretend to be wise or pose as unusual. There are two chief
reasons; because [ don't really like the telephone, and
because I find I can still work and play, eat, breathe, and
sleep without it. Why don't 1 like the telephone ? Because
[ think it is a pest and time waster, It may create unnecessary
suspense and anxiety, as when you wait for an expected
call, that doesn’t come; or irritating delay, as when you
keep ringing a number that is always engaged. As for
speaking in a public telephone booth, it seems to me really
horrible. You would not use it unless you were ina hurry,
and because you are in a hurry, you will find other people
waiting before you. When you do get into the booth, you
are half suffocated by the stale, unventilated air, flavored
with cheap face-powder and chain smoking; and by the
time you have begun your conversation your back is chilled
by the cold looks of somebody who is moving about
restlessly to take your place,

If you havea telephone in your house, you will admit
that it tends to ring when you least want it to ring; when
you are asleep, or in the middle of a meal or a vanyersation,
or when you are just going out, or when vou are in your
bath. Are you strong minded enough toignone it, to say to
yourself. “ Ah well, it will be all the same in hundred years
time”, You are not. You think theye may be some important
nelws or message for you. Have you never rushed dripping
from the bath, of chewing from the table, or dazed from
bed, only to be tald that you are a wrong number ? You
were told the trath. In my opinion all telephone numbers
are wrong nurnbers. if, of course, your telephone rings and
you decide ot to answer it, then you will have to listen to
an idiotic beli ringing and ringing in what is supposed to
be the privacy of your own home. You might as well buy a
bicycle bell and ring it yourself,
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196,

197,

198.

153,

‘All telephone numbers are wrong numbers’,
bevause :

(A)
(B
©

(]

the author always gets wrong calls
whenever he tries it always goes wiong.
hednmtglwm:;hmrpurh:mlntehphm :
and telephone numbers.

none of the statements given above.

The author does not have a telephone because :

(A)
(®)

©
o)

he would prefer to do something else

he thinks that it can create unnecessary
suspense and ardety,

he pretends to be wise

he pases as untistal

He hates speakivg in a public telephone booth
because:

203z

pthers look at him angrily

the other side may not know your number
it is costlier

he is sutfocated by the stale, unventilated air,
flavoured with cheap face powder and chain-
grnoking,

*...... your back is chilled by the cold looks of
somebody”’ means :

A

(B)
©
R

you feel uneasy because the person next in
the queue looks at you restlessly

people are very cold
others look at you angrily
vou feel cold at the back

*Ah well, it will be all the same in hundred years
time’. This senfence means :

(A)

®
Q

Things will remain the same for 100 years to
OO,

O should be strong minded.

Nothing is going to change even if you don't
answer the telephone bell.

Things have not changed for the past
100 years.

-oflo-
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
=T 29 =7 fafy

Directions :— Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@] appropriate
oval A, B, C or D by Black/Blue Ball-point
pen against the question concerned in the
Answer-Sheet, (For V.H. candidates,
corresponding oval will be blackened by
the scribe.)

The following example illustrates the manner
in which the questions are required to be
answered.

Example : ~

Question No. ‘()" —

Out of the four words given below, three
are alike in some way and one is different.
Find the ODD word :

(A) Girl

(B) Boy

(C)y Woman

(I Chair
Explanation :— In the above example, the
correct answer is "Chair’ and this answer has
been suggested at ‘D’. Accordingly, the
answer is to be indicated by blackening jam)
the oval by Black/Blue Ball-point pen in
column ‘I against Question Ne, "’ in the
manner indicated below ;

Question Na. Q)

[A] [B] [€} -]

There is only one correcl answer to each
question. You should blacken [«m] the oval
of the appropriate column, viz., A, B, C or
D. If you blacken [a®] more than one oval
against any orie-question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that
black mark-in the oval in the Answer-Sheet,
and then blacken the oval of revised response.
Yourare NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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